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Course : 505

( Environmental Biology and Wildlife )

Full Marks : 48
Pass Marks : 19 (Backlog) / 14 (2014 onwards)

Time : 2 hours

s in the margin indicate full marks-

The figure
for the questions
1. Write one-word’ - substitution  for the
following : 1x5=5

(a) * Very large ecological areas on the
earth’s surface with fauna and flora

adapting to their environment

(b) The counter
populations or

the environmen
effectiveness of pest management

" responses of pest

other biotic factors in

t that diminish the
tactics

P7/199 ( Turn Over)



(c)

(d)

(e)

Onment
2. Disti
nguish h
etween the followin ( )
g (any two) :
(@) In-sity co y 1
conservatlonnsel'vatlon and EX—SItu

[ 2

.produce many
IS, comparative
to adulthoog

I;I;_?duflti‘v’ity strategy 1
Spring, each of whom

I .
CSEIVOIr of bigdj

e . versi . :
ndemic Species ersity that is rich 1P

The cycle in il
Other inorgan;
atmosphere ;
cor.werted in’to
animals or 1
Into the envi

c:lCI;lgirogens carbon and
ot ents of the soib
the or of a region ar
b ganic substances ©

and released back

reso Tesour
Urce ce and NOn—renewable
(c) Primg
Prodyceti:
I
P OduCtlvity HChvity and Secondary

Y A . PP Hﬂﬂe

4. Justify the following with proper write-up

l .
Y, less likely to survive

. What are biodiversity

(3)

(any two) : 4x2=8

(a) Energy flow
follows the law of therm

in an ecosystem always
odynamics.

(b) Judicious use of natural resources is

mandatory.

(c) Greenhouse gases (GHG) is important.

(d) Remote sensing is 2 useful tool for

biodiversity conservation.

and ‘hot spot’ of bio-
the values and threat

s biodiversity rich
2+6+2=10

diversity? Write about
to the biodiversity- Why 1

in tropics?

m. Describe the structure

Define ecosyste
] ecosystem studied

and function of & typica
by you. ' 1+4+6=11
Or
Write short notes o1 the following : 4+4+3=11
(a) Lotka-Volterrd model
rvation in

(b) Threats to chinoceros conse

Assam o
(c) Photochemical S8

* kK
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